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AQA (A) AS Psychology

3 Research methods 

1
(a)
(i)
The independent variable in the study was whether the participants had over 
30 hours daycare a week or less than 15 hours (1 mark).



(ii)
The dependent variable in the study was participants’ social developmental scores (1 mark).


(b)
(i)
C – an independent groups design was used (1 mark).



(ii)
One strength of this design is there are no order effects (1 mark), as different participants do the different conditions (2 marks).





One weakness of this design is there are participant variables (1 mark), as differences in values of the dependent variable may be due to individual differences between participants rather than differences of the independent variable (2 marks).


(c)
(i)
Participants attending a nursery for over 30 hours a week will have lower scores on a social development index than those attending for less than 
15 hours a week (2 marks).



(ii)
A one-tailed hypothesis is suitable as previous research has indicated results will lie in a particular direction (1 mark), i.e. that excessive hours of daycare can have a negative impact on social development of children (2 marks).


(d)
One possible extraneous variable could be gender (1 mark). To stop it becoming 
a confounding variable, it must be controlled (1 mark) by ensuring both testing groups have an equal number of males and females in them (2 marks).


(e)
(i)
A pilot study is a small-scale practice study (1 mark) carried out before the actual study (2 marks).



(ii)
One reason a pilot study might be carried out is to identify procedural 
errors (1 mark) so they can be corrected before the actual study (2 marks). Another reason would be to see if there is a possibility of finding a significant difference/association (1 mark) before time and energy is spent on a larger-scale study (2 marks).


(f)
The aim would be assess the relationship between the amount of time spent in daycare and the level of social development. One co-variable would be the amount of time spent in daycare in hours and the second co-variable would be the score on a social development index. A suitable one-tailed correlational hypothesis would be that there would be a negative correlation between amount of time spent in daycare and the score on a social development index. Participants’ data for the amount of time they spent in daycare and their score on a development index would be plotted on a scattergram to display the type and degree of correlation. (10 marks)

2
(a)
One method of dealing with this ethical issue is to ensure that the risk of harm is no greater than that which would be experienced in everyday life (1 mark), such as the distress caused to babies being no greater than if they had been left with an unfamiliar babysitter (2 marks).



Another method is to ensure that participants are aware of their right to withdraw 
(1 mark) so that mothers could withdraw their babies if they felt they were being overly distressed (2 marks).


(b)
(i)
Another issue that arises is that of informed consent (1 mark), as the babies are too young to give an informed decision as to whether they wish to participate (2 marks).



(ii)
One strategy to deal with this issue would be to get their mother to give permission for them (1 mark), as, if they are over the age of 16, they would be deemed adult enough to make a considered decision as to whether the babies could participate (2 marks).


(c)
A cost–benefit analysis weighs up the potential costs of a research study against the potential benefits. If the benefits are deemed to outweigh the costs, then the study can be considered ethical. For example, a cost might be short-term distress to a baby, while the benefits might be that the knowledge gained would help to formulate strategies on the best methods of parenting to ensure good quality attachments were made (4 marks).
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